CCLalir®

LIKAMLBRF RRF M EH

BRSH

K23JQAFIE L R B &% ED

=
o5
A A
SN 7R -+
T TIT
| g EE ‘ g wil

s’

K23J Q — F — 8 M
RIIRE  EHIAR EEAR BEEOE A
K & 5I= 1L Q=i Fiz=s 6:G1/8") M10x1
Zi@#EuEt = RiER 8:G1/4" M12x1.25
it ol 10:G3/8" M16x1.5

15:G1/2" M20x1.5
20:G3/4" M27x2
25:G1" M33x2
32:G1 1/4" M42x2
40:G1 1/2" M48x2
50:G2" M60x2

e K23JQ-6(T) | K23JQ-8(T)| K23JQ-10(T)| K23JO-15(T)| K23JQ-20(T) K23JQ-25(T)| K23JQ-F32(T) | K23JQ-F40(T) | K23JQ-F50(T)
AFREE mm 6 8 10 15 20 25 32 40 50
TEEATEE MPa 0.15~0.8
it = Nml/min <10 <10 <25 <25C <50 <50 <70 <70C <70C
&[5 B 8) ms <0.04 <0.04 <0.06 <0.06 <01 <01 <0.15 <0.15 <0.2
WIHRSRE Hz 210 210 >8 >8 >4 >4 >3 =3 >2
T1ERET -10~55
NEREC -5~50
SfEmm? >10 ‘ 220 | =40 > 60 ‘ > 120 ‘ > 190 > 300 ‘ > 400 ‘ > 500
BEV AC: 220, 110, 36 ; DC: 24,12( B3 A2 ¥ I EUE BER+10%~—15%) Si2 : TARMSH
HFwAR J > 150
SRS
5 I— 3 | ui M
"0 gu | F
B @ 2 ‘ T CCLAR H
N )
o I A v
e A !‘\
A v L ELE A N -
- <]
i HEPOREEIR,
Bs | 1 E“é‘%TS(K‘ - B C D E F G HD HQ | 1 J M L
K23JQ-6(T) | G1/8(M10x1)
90 14 7 14 68 80 134 91 7 56
K23JQ-8(T) G1/4(M12x1.25)
K23JQ-10(T) G3/8(M16x1.5)
125 19 10 19 86 100 155 111 7 64
K23JQ-15(T) G1/2(M20x1.5)
K23JQ-20(T) G3/4(M27x2) G1/8
180 30 12 30 130 162 218 149 11 100
K23JQ-25(T) G1(M33x2) |
K23JQ-F32(T) G1/4(M42x2)
—— .| 215 52.5 - 40 - - 197 130.5 - 218 80
K23JQ-F40(T) G1/2(M48x2)
K23JQ-F50(T) G2(M60x2) 265 56 - 45 - - 222 155 - 258 101
> K-17 [ =R O



